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QUESTION 1

The data on a failed disk group is being rebuilt on other disk groups. Negative performance impact to VMs is being
reported.

What can be used to reduce the negative performance impact on the VMs?
A. resync throttling

B. maintenance mode

C. proactive rebalance

D. disk group data evacuation

Correct Answer: C

QUESTION 2

When attempting to add a directly attached disk device to a host disk group, the intended disk does not show among the
available devices in disk management.

Which action can be used to make the device available?
A. delete all device partitions

B. format the existing partition

C. create a 1GB metadata partition

D. create a VMFS partition

Correct Answer: D

QUESTION 3

A system administrator running a 6-node cluster is trying to enable the deduplication and compression
feature. During the process of switching it on, the General vSAN error occurs.

What is the possible reason the General vSAN error occurred?

A. Force provisioning setting is required.

B. The cluster is a hybrid environment.

C. Storage policies require FTT=1.

D. The cluster is an all-flash environment.

Correct Answer: B
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Reference: http://www.optiodata.com/documents/optio/datasheets/dell-emc-vxrail-appliance-techbook.pdf

QUESTION 4

A vSAN administrator is building a new vSAN cluster and each host only has two physical uplinks
configured in a team.

What can the administrator use to ensure vVSAN receives the necessary bandwidth while maintaining high
availability?

A. Route based on IP hash

B. A dedicated uplink for vSAN traffic

C. Shared uplinks for all traffic

D. Network I/O control

Correct Answer: D

QUESTION 5

Which fault tolerance method protects business data and achieves storage space efficiency?
A. RAID-0

B. RAID-1

C. RAID-5

D. RAID-10

Correct Answer: C

Reference: https://www.prepressure.com/library/technology/raid
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